











Place Value

Haris counted 9 pencils.
Sana found 1 more pencil.


















Family of 10 Family of 20

Ten 10 Twenty 20
Eleven 1 Twenty one 21
Twelve 12 Twenty two 22



noiny I’

Thirty one
Thirty two
Thirty three
Thirty four

L& _J

31

32
33
34

lvll’

Forty one
Forty two
Forty three
Forty four

W

41
42
43
bk
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Fifty one
Fifty two
Fifty three
Fifty four

ol

51

52
53
54

piiath 4
Sixty one
Sixty two
Sixty three
Sixty four

b

61
62
63
64
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Seventy one 71
Seventy two 72
Seventy three 73
Seventy four 74
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Eighty one
Eighty two
Eighty three
Eighty four

ot

81
82
83
84
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Ninety one
Ninety two
Ninety three
Ninety four

NS

91

92
93
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I‘III\'.'-ly 11vVe
Ninety six
Ninety seven
Ninety eight
Ninety nine
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96
97
98
99
























101 111
102 | 112
103 | 113
104 | 114
105 | 115
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124
125

131

132
133
134
135

141
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143
144
145

151

152
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154
155

162
163
164
165

171
172
173
174
175

181

182
183
184
185

191

192
193
194
195












Ali starts from 9.
He counts back 1 and jumps to 8.
He then counts back 1 more and jumps to 7.
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This is called skip counting by 10s.

We can count quickly by making sets of 10.
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30U Is the bigger number.

Which is the bigger number?

230 150



850

283

650

875

341

793

561

710

410

900

284

920

461

834

863

690

340

290

675

541

376

800

400

780

400

510

380

640

190

381






680

670

549

675

612

536

627

675

590
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' 2¥ 3™ are called ordinal numbers.
Ordinal numbers tell us the position of the object.
We can also write them as first, second, third.















Addition of tens and ones

Find the sum of 24 and 3.
















































Addition problems in daily life

There are 5 biscuits in the plate. Ali puts 2

mnro hicmiite LHaw manu Fatal hicriide ara $Flaara









Finding the missing number

Find the missing number.
















































Subtraction problems in daily life

There are 5 apples on a tree. 2 apples fall off.









Finding the missing number

Find the missing number.






2 + 2 + 2

[}
o

There are 6 apples altogether.

How manvy fish are there in total?

CULrn Dowl Nnas £ riar.

2 + 2 + 2 + 2 + 2 = 10
There are 10 fish in total.
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There are groups.
Each group has __ eggs.
3 4+ + 3 T =






X 2 =

__ times 2 equals __.

There are ____ butterflies altogether.
























3 x 2

"
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There are 6 keys altogether.

How manv erasers are there in total?

3+3+3+3+3 = 5 x 3
5 x 3 = 15
There are 15 erasers altogether.


















9+3=3
There are 3 rings in each box.
112



12 + 2 =
There are ____ marbles in each box.

Ali has 15 oranges.









Recall the table of 3.
l1x3=3
2X3=6

6 comes in the table of 3 in the second step.
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in the third step

12+ 4=___
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10

Sana has Rs. 15 in total.









LOdI OT InEe vyjectl, we el pvacn cnange.

We can say that Ali’s father got back Rs. 30 change.












Centimetre is a unit of measurement. We can also
write it as cm.

We can use a ruler to measure the length of an
object.

The lenath from the 0O mark to the 1 mark on the




0 1 2 3 & 5 6 7 8 9
cm

The length of the pencil is cm.







The chair is shorter than the metre ruler. It is
less than 1 m tall.

Zara is about as tall as the metre ruler. She is
about 1 m tall.

The teacher is taller than the metre ruler. She is
more than 1 m tall.






















Litre is the standard unit of measurement used to
measure capacity. We can write it as L.

The pot can hold 2 L of water.

Millilitres is also a standard unit of measurement
used to measure capacity. We can write it as mL.

Look at this jug.
This has 200 mL of water.
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We say one half of the square is coloured.

The square is divided into 4 equal parts.
























It shows us the hours.
When the minute hand is pointing
towards 12, we read the time as o’clock.







It will again count till 5 to reach number 2 and
so on.

The number of times the long hand is moving are
called minutes.






Ine NOUr nana Is at 3. vwe Write 3 on the lerT siae.
3 2

The minute hand is at 2. This means it is 10 minutes
after 3 o'clock. We write 10 on the right hand side.
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When Ali goes to sleep, we say it is 8.15 pm.

We use am. to talk about time just after 12 at
night to just before 12 in the morning.

We go to school at 8 __. am | pm
Zara eats her breakfast at 9 . am | pm
I ao to sleep at 10 . am | nm







